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QUESTION 1

A group has a resource allocation maximum of 50% and the job maximum is set to 1. Two users within this resource
groupeach execute 1 job at the same time, which statement is correct?

A. Each job gets 25% and both run at the same time.
B. Each job gets 50% but only one job runs at a time.
C. Each job gets 50% and both run at the same time.
D. You cannot set the job maximum per resource group.

Correct Answer: B

QUESTION 2

Which High-Availability (HA) mechanism is used by the PureData System for Analytics Appliance?
A. AIX-HA

B. Linux-HA

C. SUSE-HA

D. Solaris-HA

Correct Answer: B

QUESTION 3

What is the maximum number of databases that can be created?
B. 12

C.31

D.>96

Correct Answer: D

QUESTION 4
Which attribute CANNOT be defined for both users and groups?
A. Row set limit.

B. Default priority.
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C. Query time out.
D. Password expiration.

Correct Answer: D

QUESTION 5

How does the PureData System for Analytics utilize the distribution key to store records on disk?

A. System assigns records to a FPGA based on their distribution key value.

B. System assigns records to the host based on their distribution key value.

C. System assigns records to a logical data slicebased on their distribution key value.

D. System assigns records to a Netezza Database Accelerator based on their distribution key value.

Correct Answer: C
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